1) Fe0 + 2H+Cl → Fe+2Cl2 + H20↑
Fe0 – 2e− = Fe2+ | 1 восстановитель, процесс окисления
2H+ + 2e− = H20 | 1 окислитель, процесс восстановления

2) 2Fe+2Cl2 + Cl20 → 2Fe+3Cl3− 

Fe2+ – e− = Fe3+   | 2 восстановитель, процесс окисления
Cl20 + 2e− = 2Cl− | 1 окислитель, процесс восстановления
3) 2Fe0 + 6H+Cl → 2Fe+3Cl3 + 3H20↑
Fe0 – 3e− = Fe3+ | 2 восстановитель, процесс окисления
2H+ + 2e− = H20 | 3 окислитель, процесс восстановления

4) 2Fe0 + 3Cl20 = 2Fe+3Cl3−
Fe0 – 3e− = Fe3+   | 2 восстановитель, процесс окисления

Сl20 + 2e− = 2Cl− | 3 окислитель, процесс восстановления
5) FeCl2 + 2NaOH → Fe(OH)2↓ + 2NaCl
Fe2+ + 2Cl− + 2Na+ + 2OH− = Fe(OH)2↓ + 2Na+ + 2Cl−
Fe2+ + 2OH− = Fe(OH)2↓
6) FeCl3 + 3NaOH → Fe(OH)3↓ + 3NaCl
Fe3+ + 3Cl− + 3Na+ + 3OH− = Fe(OH)3↓ + 3Na+ + 3Cl−
Fe3+ + 3OH− = Fe(OH)3↓
7) 4Fe+2(OH)2 + O20 + 2H2O → 4Fe+3(O−2H)3↓
Fe2+ – e− = Fe3+    | 2 восстановитель, процесс окисления
O20 + 2e− =  2O2− | 1 окислитель, процесс восстановления
8)  ????
9) ???

10) FeCl2 + 2Ag(NO3)2 → 2AgCl↓ + Fe(NO3)2
Fe2+ + 2Cl− + 2Ag+ + 2NO3− = 2AgCl↓ + Fe2+ + 2NO3−
Ag+ + Cl− = AgCl↓
11) Fe(OH)3 + 3HNO3 → Fe(NO3)3 + 3H2O

Fe(OH)3  + 3H+ + 3NO3 = Fe3+ + 3NO3− + 3H2O
Fe(OH)3 + 3H+ = Fe3+ + 3H2O
12) 3Fe(OH)3 → t   Fe2O3 + 3H2O
13) Fe2+3O3 + 3C0 → 2Fe0 + 3C+2O↑
Fe3+ + 3e− = Fe0 | 2 окислитель, процесс восстановления
C0 – 2e− = C2+    | 3  восстановитель, процесс окисления
14) Fe3+2O3 + 3C+2O → 2Fe0 + 3C+4O2↑

Fe3+ + 3e− = Fe0 | 2 окислитель, процесс восстановления

C+2 – 2e− = C4+  | 3  восстановитель, процесс окисления

15) Fe2+3O3 + 2Al0 → 2Fe0 + Al2+3O3
Fe3+ + 3e− = Fe0 | 1 окислитель, процесс восстановления
Al0 – 3e− = Al3+  | 1 восстановитель, процесс окисления
16) Fe0 + H2+SO4 → FeSO4 + H20
Fe0 – 2e− = Fe2+ | 1 восстановитель, процесс окисления
2H+ + 2e− = H20 | 1 окислитель, процесс восстановления
17) 2Fe+2SO4 + Ba+4O2 + 2H2SO4 → Ba2+SO4 + Fe2+3(SO4)3 + 2H2O

Fe2+ – e− = Fe3+     | 2  восстановитель, процесс окисления
Ba+4 + 2e− = Ba2+  | 1  окислитель, процесс восстановления
